EARAROBEEIERT — 2 N— IBISH —F

201778168 (H) SEEH5H

m C2—-3 C2 #5%—M (xwlm | memml - |y ) oo mE
[A&4£] 1% :300,000" ~ 23#%&:75000M”  33%&:38,000M  47&:22,000H .~ 57&:15,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
v+t £ 5 | BEEKX 1:26.1 3-4-3-3 | 40.4| — 2 475 | BT (BAE)
1189 % 56.0 (=) (1) |HE=s
R:TLAITLTY N BiUanNsF—L EEie)
YES BRER :26. -9-9~ 6] — FIRFEE ()
ol7l 7| 1vEYTIE B4 Lo 1(;3)7 9-9-9-8 | 39.6 6 (4+360) gl el
LR —LVv—=— B:TLEXY—7> YA 7805
NI N KIRAE : 00— — HEIEX ()
3 6| rr i n—n— i o6 e (11217/20> 2-2-2-2 | 41.5 3 5_210) 7&%@%
LTUBARIILR BELITL A~ ARG
. s = BIRFE I :27. -1-1- . - BEFE— (BH)
N MEPS=ETE S R = e | T e U G s
LY LTAN—F BihHLEIT =i BB
e —P # 4 | EEFF 1:27.6 4-3-4-4 |41.9| — 4 397 | BEXEH (&)
5 2 O—XxRvy 7 54.0 (3) o) :HC%%—EK
X8 F2—FTUNT B4 37TI—) BE RS
= fo4 | BEEt 1:27.9 5555 [41.9| — | 7 | 466 |EHFME— (FH)
6155 P E== 54.0 (1 1/2) +3) HHFIZ
LhVX2T71v7 B:NYEZ— EdHhITT— L4
S = “ 4t 5 | B)llEEL 1:28.0 6-6-7-6 | 41.7| — 5 476 | REAEEA (&)
7 3| vz Y7y 54.0 (1/2) ) (%) K= T
R:TS5v 8% —F B:¥avxv/NnF KEHIS
. GBS & : 76— — Hehse (SH)
slalg| FLr77z7- # 10 e 1(.32/%2 7-7-6-7 | 42.0 8 (4:343; 2%%?
LAY w4 —Y B:YII-FLX HET7—L
. TARAH .09 o o . - mLBE &)
ol1l1lo1>z2E07 i 5 A 1<239)9 8-8-8-9 | 43.4 9 :1323; um'_g
R:AFAT—ILK BvFivF pailz:be ]
® I—F—@EBIERL
|S=7r= 4,6,9,2,5,3,8,1,7
Ao=5"= 4,6,2,9,5,3,8,1,7
T =35r= 4,6,9,2,5,8,3,1,7
41—F— 4,6,9,2,5,3,8,7,1
[ RN
B R 9 370M | | 71 K 7-9 610 | | # = 7-8 2,190 | | 3:E& 6-7-9 1,770M
# B 9 1204 6-9 290M B E 7-9 2,090 EE 9-7-6 13,0504
7 360M 6-7 570M B H 9-7 3,500M
6 1309

ABICOVWTRDTEEERROODE. TR LIV,




